

OSTROWSKI INEQUALITIES FOR COSINE AND SINE OPERATOR FUNCTIONS

George A. Anastassiou

Abstract. Here we present Ostrowski type inequalities on Cosine and Sine Operator Functions for various norms. At the end we give some applications.

1. Introduction

The main motivation here is the famous Ostrowski inequality from 1938, see [1, 2, 10], which follows:

THEOREM 1. *Let $f : [a, b] \rightarrow \mathbb{R}$ be continuous on $[a, b]$ and differentiable on (a, b) whose derivative $f' : (a, b) \rightarrow \mathbb{R}$ is bounded on (a, b) , i.e. $\|f'\|_\infty := \sup_{t \in (a, b)} |f'(t)| < \infty$. Then*

$$\left| \frac{1}{b-a} \int_a^b f(t) dt - f(x) \right| \leq \left[C + \frac{(x - \frac{a+b}{2})^2}{(b-a)^2} \right] (b-a) \|f'\|_\infty, \quad (1)$$

for any $x \in [a, b]$, where C is a positive constant. The constant $C = \frac{1}{4}$ is the best possible.

We generalize here (1) to Cosine and Sine operator functions and we expand it in various directions. At the end we give some applications.

2. Background

For notions and results of this section see [4, 6, 8, 9, 11].

Let $(X, \|\cdot\|)$ be a real or complex Banach space. By definition, a cosine operator function is a family $\{C(t) : t \in \mathbb{R}\}$ of bounded linear operators from X into itself, satisfying

2010 AMS Subject Classification: 26D99, 47D09, 47D99.

Keywords and phrases: Ostrowski inequality; Cosine operator function; Sine operator function.

- (i) $C(0) = I$, I the identity operator;
- (ii) $C(t+s) + C(t-s) = 2C(t)C(s)$, for all $t, s \in \mathbb{R}$ (the last product is composition);
- (iii) $C(\cdot)f$ is continuous on \mathbb{R} , for all $f \in X$.

Notice that $C(t) = C(-t)$, for all $t \in \mathbb{R}$.

The associated sine operator function $S(\cdot)$ is defined by

$$S(t)f := \int_0^t C(s)f ds, \text{ for all } t \in \mathbb{R} \text{ and for all } f \in X.$$

Notice that $S(t)f \in X$ and it is continuous in $t \in \mathbb{R}$.

The cosine operator function $C(\cdot)$ is such that $\|C(t)\| \leq Me^{\omega t}$, for some $M \geq 1, \omega \geq 0$, for all $t \in \mathbb{R}_+$; here $\|\cdot\|$ is the norm of the operator.

The infinitesimal generator A of $C(\cdot)$ is the operator from X into itself defined as

$$Af := \lim_{t \rightarrow 0^+} \frac{2}{t^2} (C(t) - I)f$$

with domain $D(A)$. The operator A is closed and $D(A)$ is dense in X , i.e., $\overline{D(A)} = X$, and satisfies

$$\int_0^t S(s)f ds \in D(A) \text{ and } A \int_0^t S(s)f ds = C(t)f - f, \text{ for all } f \in X.$$

Also, $A = C''(0)$ holds, and $D(A)$ is the set of $f \in X$ such that $C(t)f$ is twice differentiable at $t = 0$; equivalently,

$$D(A) = \{f \in X : C(\cdot)f \in C^2(\mathbb{R}, X)\}.$$

If $f \in D(A)$, then $C(t)f \in D(A)$, and $C''(t)f = C(t)Af = AC(t)f$, for all $t \in \mathbb{R}$; $C'(0)f = 0$, see [5, 12].

We define $A^0 = I, A^2 = A \circ A, \dots, A^n = A \circ A^{n-1}, n \in \mathbb{N}$. Let $f \in D(A^n)$; then $C(t)f \in C^{2n}(\mathbb{R}, X)$, and $C^{(2n)}(t)f = C(t)A^n f = A^n C(t)f$, for all $t \in \mathbb{R}$, and $C^{(2k-1)}(0)f = 0, 1 \leq k \leq n$, see [8].

For $f \in D(A^n), t \in \mathbb{R}$, we have the cosine operator function's Taylor formula [8, 9] saying that

$$T_n(t)f := C(t)f - \sum_{k=0}^{n-1} \frac{t^{2k}}{(2k)!} A^k f = \int_0^t \frac{(t-s)^{2n-1}}{(2n-1)!} C(s)A^n f ds. \tag{2}$$

By integrating (2) we obtain the sine operator function's Taylor formula

$$\begin{aligned} M_n(t)f &:= S(t)f - ft - \frac{t^3}{3!} Af - \dots - \frac{t^{2n-1}}{(2n-1)!} A^{n-1} f \\ &= \int_0^t \frac{(t-s)^{2n}}{(2n)!} C(s)A^n f ds, \text{ for all } t \in \mathbb{R}, \end{aligned} \tag{3}$$

and all $f \in D(A^n)$.

Integrals in (2) and (3) are vector valued Riemann integrals, see [3, 7]. Here $f \in D(A^n)$, $n \in \mathbb{N}$.

Let $a > 0$ and $F \in C([0, a], X)$; then F is vector-Riemann integrable, see [11]. Clearly here $\int_0^a F(t) dt \in X$.

3. Ostrowski type inequalities

We first present results on the natural interval; here $[0, a]$, $a > 0$.

THEOREM 2. *Denote*

$$\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]} := \sup_{t \in [0, a]} \|C(t) A^n f\|.$$

Here $t_0 \in [0, a]$. Then

$$(i) \quad \left\| \frac{1}{a} \int_0^a T_n(t) f dt - T_n(t_0) f \right\| \\ \leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]}}{a(2n)!} \cdot \left[\left(\frac{4nt_0^{2n+1} + a^{2n+1}}{2n+1} \right) - at_0^{2n} \right], \quad (4)$$

$$(ii) \quad \left\| \frac{1}{a} \int_0^a M_n(t) f dt - M_n(t_0) f \right\| \\ \leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]}}{a(2n+1)!} \cdot \left[\left(\frac{2(2n+1)t_0^{2(n+1)} + a^{2(n+1)}}{2(n+1)} \right) - at_0^{2n+1} \right]. \quad (5)$$

Proof. By (2) we have ($m := 2n - 1$)

$$T_n(t) f = \int_0^t \frac{(t-s)^m}{m!} C(s) A^n f ds,$$

and

$$T_n(t_0) f = \int_0^{t_0} \frac{(t_0-s)^m}{m!} C(s) A^n f ds,$$

for any $t, t_0 \in [0, a]$. We estimate $E_n(t) f := T_n(t) f - T_n(t_0) f$.

Case of $t \geq t_0$: we have

$$\|E_n(t) f\| = \left\| \int_0^{t_0} \frac{(t-s)^m}{m!} C(s) A^n f ds + \int_{t_0}^t \frac{(t-s)^m}{m!} C(s) A^n f ds - \int_0^{t_0} \frac{(t_0-s)^m}{m!} C(s) A^n f ds \right\| \\ = \left\| \frac{1}{m!} \int_0^{t_0} ((t-s)^m - (t_0-s)^m) C(s) A^n f ds + \frac{1}{m!} \int_{t_0}^t (t-s)^m C(s) A^n f ds \right\| \\ \leq \frac{1}{m!} \left[\int_0^{t_0} ((t-s)^m - (t_0-s)^m) \|C(s) A^n f\| ds + \int_{t_0}^t (t-s)^m \|C(s) A^n f\| ds \right]$$

$$\begin{aligned} &\leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]}}{m!} \left[\int_0^{t_0} ((t-s)^m - (t_0-s)^m) ds + \int_{t_0}^t (t-s)^m ds \right] \\ &= \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]}}{(m+1)!} [t^{m+1} - t_0^{m+1}]. \end{aligned}$$

That is

$$\|E_n(t) f\| \leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]}}{(m+1)!} [t^{m+1} - t_0^{m+1}],$$

for $t \geq t_0, t, t_0 \in [0, a]$.

Case of $t < t_0$: we similarly find that

$$\begin{aligned} \|E_n(t) f\| &= \left\| \int_0^t \frac{(t-s)^m}{m!} C(s) A^n f ds - \int_0^{t_0} \frac{(t_0-s)^m}{m!} C(s) A^n f ds \right\| \\ &\leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]}}{(m+1)!} [t_0^{m+1} - t^{m+1}], \end{aligned}$$

for $t < t_0, t, t_0 \in [0, a]$. Therefore we get

$$\|E_n(t) f\| \leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]}}{(m+1)!} |t^{m+1} - t_0^{m+1}|,$$

for all $t, t_0 \in [0, a]$.

Next we observe

$$\begin{aligned} \left\| \frac{1}{a} \int_0^a T_n(t) f dt - T_n(t_0) f \right\| &= \frac{1}{a} \left\| \int_0^a (T_n(t) f - T_n(t_0) f) dt \right\| \\ &\leq \frac{1}{a} \int_0^a \|T_n(t) f - T_n(t_0) f\| dt = \frac{1}{a} \int_0^a \|E_n(t) f\| dt \\ &\leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]}}{(m+1)!a} \int_0^a |t^{m+1} - t_0^{m+1}| dt \\ &= \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]}}{(m+1)!a} \left[\left(\frac{2(m+1)t_0^{m+2} + a^{m+2}}{(m+2)} \right) - at_0^{m+1} \right]. \end{aligned}$$

So that

$$\begin{aligned} &\left\| \frac{1}{a} \int_0^a T_n(t) f dt - T_n(t_0) f \right\| \\ &\leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]}}{(m+1)!a} \left[\left(\frac{2(m+1)t_0^{m+2} + a^{m+2}}{(m+2)} \right) - at_0^{m+1} \right] \\ &= \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]}}{a(2n)!} \left[\left(\frac{4nt_0^{2n+1} + a^{2n+1}}{2n+1} \right) - at_0^{2n} \right], \end{aligned}$$

proving (4).

Letting $m := 2n$, we similarly obtain

$$\left\| \frac{1}{a} \int_0^a M_n(t) f dt - M_n(t_0) f \right\|$$

$$\begin{aligned} &\leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]}}{(m+1)!a} \left[\left(\frac{2(m+1)t_0^{m+2} + a^{m+2}}{(m+2)} \right) - at_0^{m+1} \right] \\ &= \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, a]}}{(2n+1)!a} \left[\left(\frac{2(2n+1)t_0^{2(n+1)} + a^{2(n+1)}}{2(n+1)} \right) - at_0^{2n+1} \right], \end{aligned}$$

proving (5). ■

When $n = 1$ we get

PROPOSITION 3. Let $f \in D(A)$, $t_0 \in [0, a]$, $a > 0$. We have that

$$(i) \quad \left\| \frac{1}{a} \int_0^a C(t) f dt - C(t_0) f \right\| \leq \frac{\| \|C(\cdot) A f\| \|_{\infty, [0, a]}}{2a} \left[\left(\frac{4t_0^3 + a^3}{3} \right) - at_0^2 \right],$$

and

$$(ii) \quad \left\| \frac{1}{a} \int_0^a S(t) f dt - S(t_0) f + f \left(t_0 - \frac{a}{2} \right) \right\| \leq \frac{\| \|C(\cdot) A f\| \|_{\infty, [0, a]}}{6a} \cdot \left[\left(\frac{6t_0^4 + a^4}{4} \right) - at_0^3 \right].$$

Next we call

$$T_n^*(t) f := C(t) (f) - \sum_{k=1}^{n-1} \frac{t^{2k}}{(2k)!} A^k f,$$

$t \in \mathbb{R}$. Notice that $T_n^*(0) f = f$. Furthermore we have

$$T_n^*(t) f - T_n^*(0) f = T_n^*(t) f - f = T_n(t) f,$$

for all $t \in \mathbb{R}$. Now we prove

THEOREM 4. Let $p, q > 1$ be such that $\frac{1}{p} + \frac{1}{q} = 1$. Then

$$(i) \quad \left\| \frac{1}{a} \int_0^a T_n^*(t) f dt - f \right\| \leq \frac{\| \|C(\cdot) A^n f\| \|_{q, [0, a]} a^{2n - \frac{1}{q}}}{(2n-1)! (p(2n-1) + 1)^{\frac{1}{p}} \left(2n + \frac{1}{p} \right)},$$

$$(ii) \quad \left\| \int_0^a M_n(t) f dt \right\| \leq \frac{\| \|C(\cdot) A^n f\| \|_{q, [0, a]} a^{2n + \frac{1}{p} + 1}}{(2n)! (2pn + 1)^{\frac{1}{p}} \left(2n + \frac{1}{p} + 1 \right)}.$$

Proof. (i) Set $m = 2n - 1$, then

$$T_n(t) f = \int_0^t \frac{(t-s)^m}{m!} C(s) A^n f ds.$$

By Hölder's inequality we obtain

$$\begin{aligned} \|T_n(t)f\| &= \left\| \int_0^t \frac{(t-s)^m}{m!} C(s) A^n f ds \right\| \\ &\leq \frac{1}{m!} \int_0^t (t-s)^m \|C(s) A^n f\| ds \\ &\leq \frac{1}{m!} \left(\int_0^t (t-s)^{pm} ds \right)^{\frac{1}{p}} \left(\int_0^t \|C(s) A^n f\|^q ds \right)^{\frac{1}{q}} \\ &\leq \frac{1}{m!} \left(\frac{t^{m+\frac{1}{p}}}{(pm+1)^{\frac{1}{p}}} \right) \left(\int_0^a \|C(s) A^n f\|^q ds \right)^{\frac{1}{q}} \\ &= \frac{1}{m!} \left(\frac{t^{m+\frac{1}{p}}}{(pm+1)^{\frac{1}{p}}} \right) \| \|C(s) A^n f\| \|_{q,[0,a]}, \end{aligned}$$

for all $t \in [0, a]$. That is we have

$$\|T_n(t)f\| \leq \frac{1}{m!} \left(\frac{t^{m+\frac{1}{p}}}{(pm+1)^{\frac{1}{p}}} \right) \| \|C(s) A^n f\| \|_{q,[0,a]},$$

for all $t \in [0, a]$. Therefore

$$\begin{aligned} \left\| \frac{1}{a} \int_0^a T_n^*(t) f dt - T_n^*(0) f \right\| &= \left\| \frac{1}{a} \int_0^a (T_n^*(t) f - T_n^*(0) f) dt \right\| \\ &= \left\| \frac{1}{a} \int_0^a T_n(t) f dt \right\| \leq \frac{1}{a} \int_0^a \|T_n(t) f\| dt \\ &\leq \left(\frac{\| \|C(s) A^n f\| \|_{q,[0,a]}}{am!(pm+1)^{\frac{1}{p}}} \right) \int_0^a t^{m+\frac{1}{p}} dt = \frac{\| \|C(s) A^n f\| \|_{q,[0,a]} a^{m+\frac{1}{p}}}{m!(pm+1)^{\frac{1}{p}} \left(m + \frac{1}{p} + 1\right)}. \end{aligned}$$

We have proved that

$$\begin{aligned} \left\| \frac{1}{a} \int_0^a T_n^*(t) f dt - T_n^*(0) f \right\| &\leq \frac{\| \|C(s) A^n f\| \|_{q,[0,a]} a^{m+\frac{1}{p}}}{m!(pm+1)^{\frac{1}{p}} \left(m + \frac{1}{p} + 1\right)} \\ &= \frac{\| \|C(s) A^n f\| \|_{q,[0,a]} a^{2n-\frac{1}{q}}}{(2n-1)! (p(2n-1)+1)^{\frac{1}{p}} \left(2n + \frac{1}{p}\right)}, \end{aligned}$$

establishing the claim.

(ii) Set $m = 2n$, then similarly we get

$$\begin{aligned} \left\| \frac{1}{a} \int_0^a M_n(t) f dt \right\| &\leq \frac{\| \|C(s) A^n f\| \|_{q,[0,a]} a^{m+\frac{1}{p}}}{m!(pm+1)^{\frac{1}{p}} \left(m + \frac{1}{p} + 1\right)} \\ &= \frac{\| \|C(s) A^n f\| \|_{q,[0,a]} a^{2n+\frac{1}{p}}}{(2n)! (2pn+1)^{\frac{1}{p}} \left(2n + \frac{1}{p} + 1\right)}, \end{aligned}$$

proving the claim. ■

THEOREM 5.

$$(i) \quad \left\| \frac{1}{a} \int_0^a T_n^*(t) f dt - f \right\| \leq \frac{a^{2n-1}}{(2n-1)!} \| \|C(\cdot) A^n f\| \|_{1,[0,a]}.$$

$$(ii) \quad \left\| \frac{1}{a} \int_0^a M_n(t) f dt \right\| \leq \frac{a^{2n+1}}{(2n)!} \| \|C(\cdot) A^n f\| \|_{1,[0,a]}.$$

Proof. Set $m = 2n - 1$. We notice that

$$\begin{aligned} \|T_n(t) f\| &= \left\| \int_0^t \frac{(t-s)^m}{m!} C(s) A^n f ds \right\| \\ &\leq \frac{1}{m!} \int_0^t (t-s)^m \|C(s) A^n f\| ds \leq \frac{a^m}{m!} \int_0^t \|C(s) A^n f\| ds \\ &= \frac{a^m}{m!} \int_0^a \|C(s) A^n f\| ds \leq \frac{a^m}{m!} \| \|C(s) A^n f\| \|_{1,[0,a]}, \end{aligned}$$

for all $t \in [0, a]$, i.e.

$$\|T_n(t) f\| \leq \frac{a^m}{m!} \| \|C(s) A^n f\| \|_{1,[0,a]},$$

for all $t \in [0, a]$. Therefore

$$\begin{aligned} \left\| \frac{1}{a} \int_0^a T_n(t) f dt \right\| &\leq \frac{1}{a} \int_0^a \|T_n(t) f\| dt \leq \frac{a^m}{m!} \| \|C(s) A^n f\| \|_{1,[0,a]} \\ &= \frac{a^{2n-1}}{(2n-1)!} \| \|C(s) A^n f\| \|_{1,[0,a]}, \end{aligned}$$

proving the claim.

(ii) Set $m = 2n$. Then similarly we get

$$\left\| \frac{1}{a} \int_0^a M_n(t) f dt \right\| \leq \frac{a^{2n}}{(2n)!} \| \|C(s) A^n f\| \|_{1,[0,a]},$$

proving the claim. ■

In the case that $n = p = q = 2$, we get

COROLLARY 6 (to Theorem 4).

$$(i) \quad \left\| \frac{1}{a} \int_0^a \left(C(t) f - \frac{t^2}{2} Af \right) dt - f \right\| \leq \frac{\| \|C(\cdot) A^2 f\| \|_{2,[0,a]} a^{3.5}}{27\sqrt{7}}.$$

$$(ii) \quad \left\| \int_0^a \left(S(t) f - ft - \frac{t^3}{6} Af \right) dt \right\| \leq \frac{\| \|C(\cdot) A^2 f\| \|_{2,[0,a]} a^{5.5}}{396}.$$

Next, we prove Ostrowski type inequality on the general interval $[a, b]$, $0 \leq a < b$.

THEOREM 7. Let $t_0 \in [a, b]$.

$$(i) \quad \left\| \frac{1}{b-a} \int_a^b T_n(t) f dt - T_n(t_0) f \right\| \leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, b]}}{(2n)! (b-a)} \times \left[\frac{4nt_0^{2n+1}}{2n+1} - t_0^{2n} (a+b) + \left(\frac{a^{2n+1} + b^{2n+1}}{2n+1} \right) \right].$$

$$(ii) \quad \left\| \frac{1}{b-a} \int_a^b M_n(t) f dt - M_n(t_0) f \right\| \leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, b]}}{(2n+1)! (b-a)} \times \left[\left(\frac{2(2n+1)t_0^{2(n+1)} + a^{2(n+1)} + b^{2(n+1)}}{2(n+1)} \right) - (a+b)t_0^{2n+1} \right].$$

Proof. i) Set $m := 2n-1$, and $E_n(t) f := T_n(t) f - T_n(t_0) f$, where $t, t_0 \in [a, b]$, with $a \geq 0$. As in the proof of Theorem 2 we obtain

$$\| E_n(t) f \| \leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, b]}}{(m+1)!} |t^{m+1} - t_0^{m+1}|, \quad \text{for all } t, t_0 \in [a, b].$$

Next we observe

$$\begin{aligned} \left\| \frac{1}{b-a} \int_a^b T_n(t) f dt - T_n(t_0) f \right\| &= \frac{1}{b-a} \left\| \int_a^b (T_n(t) f - T_n(t_0) f) dt \right\| \\ &\leq \frac{1}{b-a} \int_a^b \| T_n(t) f - T_n(t_0) f \| dt = \frac{1}{b-a} \int_a^b \| E_n(t) f \| dt \\ &\leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, b]}}{(m+1)! (b-a)} \int_a^b |t^{m+1} - t_0^{m+1}| dt \\ &= \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, b]}}{(m+1)! (b-a)} \left[\int_a^{t_0} (t_0^{m+1} - t^{m+1}) dt + \int_{t_0}^b (t^{m+1} - t_0^{m+1}) dt \right] \\ &= \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, b]}}{(m+1)! (b-a)} \left[t_0^{m+1} [2t_0 - a - b] + \left(\frac{a^{m+2} + b^{m+2} - 2t_0^{m+2}}{m+2} \right) \right] \\ &= \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, b]}}{(2n)! (b-a)} \left[t_0^{2n} [2t_0 - a - b] + \left(\frac{a^{2n+1} + b^{2n+1} - 2t_0^{2n+1}}{2n+1} \right) \right] \\ &= \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, b]}}{(2n)! (b-a)} \left[\frac{4nt_0^{2n+1}}{2n+1} - t_0^{2n} (a+b) + \left(\frac{a^{2n+1} + b^{2n+1}}{2n+1} \right) \right], \end{aligned}$$

proving the claim.

(ii) Set $m = 2n$. Then similarly we find

$$\begin{aligned} & \left\| \frac{1}{b-a} \int_a^b M_n(t) f dt - M_n(t_0) f \right\| \\ & \leq \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, b]}}{(m+1)!(b-a)} \left[t_0^{m+1} [2t_0 - a - b] + \left(\frac{a^{m+2} + b^{m+2} - 2t_0^{m+2}}{m+2} \right) \right] \\ & = \frac{\| \|C(\cdot) A^n f\| \|_{\infty, [0, b]}}{(2n+1)!(b-a)} \left[\left(\frac{2(2n+1)t_0^{2(n+1)} + a^{2(n+1)} + b^{2(n+1)}}{2(n+1)} \right) - (a+b)t_0^{2n+1} \right], \end{aligned}$$

proving the claim. ■

When $n = 1$ we get

PROPOSITION 8. Let $f \in D(A)$, $0 \leq a < b$, $t_0 \in [0, a]$. Then

$$\begin{aligned} (i) \quad & \left\| \frac{1}{b-a} \int_a^b C(t) f dt - C(t_0) f \right\| \\ & \leq \frac{\| \|C(\cdot) Af\| \|_{\infty, [0, b]}}{2(b-a)} \cdot \left[\frac{4t_0^3}{3} - t_0^2(a+b) + \left(\frac{a^3 + b^3}{3} \right) \right], \\ (ii) \quad & \left\| \frac{1}{b-a} \int_a^b S(t) f dt - S(t_0) f + f \left(t_0 - \frac{a+b}{2} \right) \right\| \\ & \leq \frac{\| \|C(\cdot) Af\| \|_{\infty, [0, b]}}{6(b-a)} \cdot \left[\left(\frac{6t_0^4 + a^4 + b^4}{4} \right) - (a+b)t_0^3 \right]. \end{aligned}$$

4. Applications

Let X be the Banach space of odd, 2π -periodic real functions in the space of bounded uniformly continuous functions from \mathbb{R} into itself: $BUC(\mathbb{R})$. Let $A := \frac{d^2}{dx^2}$ with $D(A^n) = \{f \in X : f^{(2k)} \in X, k = 1, \dots, n\}$, $n \in \mathbb{N}$. A generates a Cosine function C^* given by (see [6], p. 121)

$$[C^*(t)f](x) = \frac{1}{2} [f(x+t) + f(x-t)], \text{ for all } x, t \in \mathbb{R}.$$

The corresponding Sine function S^* is given by

$$[S^*(t)f](x) = \frac{1}{2} \left[\int_0^t f(x+s) ds + \int_0^t f(x-s) ds \right], \text{ for all } x, t \in \mathbb{R}.$$

Here we consider $f \in D(A^n)$, $n \in \mathbb{N}$, as above. By (2) we obtain

$$\begin{aligned} \overline{T}_n(t)f & := \frac{1}{2} [f(\cdot+t) + f(\cdot-t)] - \sum_{k=0}^{n-1} \frac{t^{2k}}{(2k)!} f^{(2k)} \\ & = \int_0^t \frac{(t-s)^{2n-1}}{2(2n-1)!} \left[f^{(2n)}(\cdot+s) + f^{(2n)}(\cdot-s) \right] ds, \text{ for all } t \in \mathbb{R}. \end{aligned}$$

By (3) we get

$$\begin{aligned} \overline{M}_n(t) f &:= \frac{1}{2} \left[\int_0^t f(\cdot + s) ds + \int_0^t f(\cdot - s) ds \right] - \sum_{k=1}^n \frac{t^{2k-1}}{(2k-1)!} f^{(2(k-1))} \\ &= \int_0^t \frac{(t-s)^{2n}}{2(2n)!} \left[f^{(2n)}(\cdot + s) + f^{(2n)}(\cdot - s) \right] ds, \text{ for all } t \in \mathbb{R}. \end{aligned}$$

Let $g \in BUC(\mathbb{R})$, we define $\|g\| = \|g\|_\infty := \sup_{x \in \mathbb{R}} |g(x)| < \infty$.

Notice also that

$$\begin{aligned} \| \|C^*(s)A^n f\|_\infty \|_\infty &= \| \|C^*(s)f^{(2n)}\|_\infty \|_\infty \\ &= \frac{1}{2} \| \|f^{(2n)}(\cdot + s) + f^{(2n)}(\cdot - s)\|_\infty \|_\infty \\ &\leq \frac{1}{2} [\| \|f^{(2n)}(\cdot + s)\|_\infty \|_\infty + \| \|f^{(2n)}(\cdot - s)\|_\infty \|_\infty] \leq \|f^{(2n)}\|_\infty < \infty. \end{aligned}$$

We have the following applications

COROLLARY 9 (to Theorem 7). *Let $t_0 \in [a, b]$. Then*

$$(i) \quad \left\| \frac{1}{b-a} \int_a^b \overline{T}_n(t) f dt - \overline{T}_n(t_0) f \right\|_\infty \leq \frac{\|f^{(2n)}\|_\infty}{(2n)!(b-a)} \cdot \left[\frac{4nt_0^{2n+1}}{2n+1} - t_0^{2n}(a+b) + \left(\frac{a^{2n+1} + b^{2n+1}}{2n+1} \right) \right],$$

$$(ii) \quad \left\| \frac{1}{b-a} \int_a^b \overline{M}_n(t) f dt - \overline{M}_n(t_0) f \right\|_\infty \leq \frac{\|f^{(2n)}\|_\infty}{(2n+1)!(b-a)} \cdot \left[\left(\frac{2(2n+1)t_0^{2(n+1)} + a^{2(n+1)} + b^{2(n+1)}}{2(n+1)} \right) - (a+b)t_0^{2n+1} \right].$$

COROLLARY 10 (to Proposition 8). *Let $f \in X : f^{(2)} \in X, 0 \leq a < b, t_0 \in [a, b]$. Then*

$$(i) \quad \left\| \frac{1}{b-a} \int_a^b [f(\cdot + t) + f(\cdot - t)] dt - [f(\cdot + t_0) + f(\cdot - t_0)] \right\|_\infty \leq \frac{\|f^{(2)}\|_\infty}{(b-a)} \left[\frac{4t_0^3}{3} - t_0^2(a+b) + \left(\frac{a^3 + b^3}{3} \right) \right],$$

$$(ii) \quad \left\| \frac{1}{b-a} \int_a^b S^*(t) f dt - S^*(t_0) f + f(\cdot) \cdot \left(t_0 - \frac{a+b}{2} \right) \right\|_\infty \leq \frac{\|f^{(2)}\|_\infty}{6(b-a)} \left[\left(\frac{6t_0^4 + a^4 + b^4}{4} \right) - (a+b)t_0^3 \right].$$

We finish with

COROLLARY 11 (to Corollary 6).

$$(i) \quad \left\| \frac{1}{2a} \int_0^a [f(\cdot + t) + f(\cdot - t) - t^2 f^{(2)}(\cdot)] dt - f(\cdot) \right\|_{\infty} \\ \leq \frac{\| \| f^{(4)}(\cdot + t) + f^{(4)}(\cdot - t) \|_{\infty} \|_{2, [0, a]} a^{3.5}}{54\sqrt{7}},$$

$$(ii) \quad \left\| \int_0^a \left([S^*(t)f](x) - f(x)t - \frac{t^3}{6} f^{(2)}(x) \right) dt \right\|_{\infty, x} \\ \leq \frac{\| \| [C^*(t)f^{(4)}](x) \|_{\infty, x} \|_{2, [0, a], t} a^{5.5}}{396}.$$

REFERENCES

- [1] G.A. Anastassiou, *Ostrowski type inequalities*, Proc. Amer. Math. Soc. **123** (1995), 3775–3781.
- [2] G. A. Anastassiou, *Quantitative Approximations*, Chapman & Hall / CRC, Boca Raton, New York, 2001.
- [3] P.L. Butzer, H. Berens, *Semi-Groups of Operators and Approximation*, Springer-Verlag, New York, 1967.
- [4] D.-K. Chyan, S.-Y. Shaw, P. Piskarev, *On Maximal regularity and semivariation of Cosine operator functions*, J. London Math. Soc. () **59** (1999), 1023–1032.
- [5] H.O. Fattorini, *Ordinary differential equations in linear topological spaces*, I. J. Diff. Equations **5** (1968), 72–105.
- [6] J.A. Goldstein, *Semigroups of Linear Operators and Applications*, Oxford Univ. Press, Oxford, 1985.
- [7] Y. Katznelson, *An introduction to Harmonic Analysis*, Dover, New York, 1976.
- [8] B. Nagy, *On cosine operator functions in Banach spaces*, Acta Sci. Math. Szeged **36** (1974), 281–289.
- [9] B. Nagy, *Approximation theorems for Cosine operator functions*, Acta Math. Acad. Sci. Hungar. **29** (1977), 69–76.
- [10] A. Ostrowski, *Über die Absolutabweichung einer differentiebaren Funktion von ihrem Integralmittelwert*, Comment. Math. Helv. **10** (1938), 226–227.
- [11] G. Shilov, *Elementary Functional Analysis*, The MIT Press Cambridge, Massachusetts, 1974.
- [12] M. Sova, *Cosine operator functions*, Rozprawy Matematyczne XLIX (Warszawa, 1966).

(received 10.06.2011; in revised form 28.09.2011; available online 01.11.2011)

Department of Mathematical Sciences, University of Memphis, Memphis, TN 38152, U.S.A.

E-mail: ganastss@memphis.edu